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CHEMISTRY
[Honours]
B.Sc. Fourth Semester End Examination - 2022
PAPER - GE4T
Full Marks : 40 Time : 2 hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in their own
words as far as practicable.
lllustrate the answers wherever necessary.

Group - A
1. Apswer any five questions from the following : - 2x5=10

a) What is the physical significance of y?? 2
yrag Sl fF 2

b) Which of the following orbitals are not possible and why?
IS, IP
e Trralim Ty R I aR @92
IS, IP
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¢) MgSO, is soluble in water but BaSO, is insoluble in water?
— Why?
MgSO, &= &3] % BaSO, &eT SRIR—(H ?
d) Which one of the following is aromatic and why? 2
faree R Ao aR &4 ¢
)
A and @
e) Among the following which one is more statble and why?2
faeea (i QP 2R @R 2
* *
Ph,CH and CH,=CH-CH,
f)  Write short notes on the : Wurtz reaction 2
FFe Bt (et ¢ o R
g) Calculate the bond order of CO and NO molecules. 2
CO 4R NO 947 I8 & e It |
h) Assign R/S configuration of the following compound. 2
Et “\\Br
H \Me
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Group - B
Answer any four question from the following : 5x%4=20

Name the four quantum number and point out their
significances. Write down the electron configuration of Cr
and Fe(III).

HIE0 PRGN TR AW GR ST 8 FGa @< | Cr @R
Fe(IlT)-¥ 25 Reyitib (=14 |

Define Ionization Potential. Can it have a netative value?
“Cationic radii are smaller than their corresponding atomic
radii.”—Explain with an example. 1+1+43

TSI eTIq W@ @74 | WEAF A wfierg 1 fF
YNAF Z0E A ? ‘GNETT $ArTF I He 82 (s
AT AL (AT (7h° — GITH BRIZIPTZ T WIS |

What are the differences between hyperconjugation and
resonance? Is the boiling point affected by the branching
of alkyl chain?

YRAMFAGUIN TR AT GF ALTTOR (&7 | S
(O 2T =rll- 2t ST ~FoE & 2o e ¢ Fiifas
AT SWIZAS TS |
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Convert :

2 - Butyne — Cis-2-butene and

2-Butyne — Trans 2-butene

How will you distinguish between 1-butyne and 2-butyne?

woAa FCA 5
2-FATERT - Fr-2-fSfw aw 2-RBHRA - Fior 2-[Bfow
freng 1-RATHET W 2-RTHIZT AT I ?

What do you mean by SHAB principle? Write its
application. Comment on the acidity order of BCL, BF,
BI, and BBz, 2+1+2

SHAB Rif% 2e1re & i ¢ afoe eartafer @1e | BCL, BF,,
BI, @< BBr, QU9 SIE0GH & AICH (1Y |

Write down the gtatement of Markowhikeff’s addition
reaction? Write the reactions between propene and propyne
with HBr with explanation? What is peroxide effect?

T RaTeEs b ge F0at 1 ¥ @ caiga-a3 ex
HBr-¥ RIFAIS T G0 G ! I | ARIHRS 2o 2
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Group - C
Answer any one question from the following :10x1=10

() Why is the ionization energy of oxygen less than that
of nitrogen? 2

GFHTSAT SRR *fe FEGITHEA S I (S ¢

(i) Explain why CH,C! does not cendergo SN' reaction?
2
CH,CI, SN' fRferarm Sieafzet FTI A (31 2 I ¥R |

(iii) CH,=CH-Cl does not participle in SN? reaction-Why?

2
CH,=CH-Cl, SN? fféra Sr=afg FCa 11 (¥ 7
(iv) What are redox indicatdrs‘? 2
o et fride =5 ¢
(v} Why dows acetylene show acidic property? 2
Tt lem o e of ameda 3t ?

() Calculate the radius of 2nd Bohr orbit of a H-atom. 3
@3 H-saa S @R Frwa Ty el war |

(ii) What the differences between electron affinity and
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electronegativity? 3

BETREA TP O} FEGIACITREBa Sry =iy
CETCAT |

(iii) Explain racemization with example. 2
TrRETR CAPRIRTeT gl SR

(iv) Arrange the following carbocation in increasing order
of stability. 2

e I RRe i e g SR s |
(+} (r) +)
H,CCHCH,CH,, (CH,),C, CH,CH,CH,CH,
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